= o
A & 0l & AF 2 E A A
SA: REFHY
M sws N
Sl 24N ol ¥ X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=Ry 17,143,004 14,964,885 2,178,119
= 316,440
s 2,800,000
J| 1,300
< 220,800
s 13,804,464
sns XN 8,027,191 8,048,372 A21,181
= 58,600
s 50,000
< 205,500
[ia 7,713,091
=8d 22l € X 7,723,901 7,145,202 578,699
= 58,600
s 50,000
< 205,500
[ia 7,409,801
HALd 2AEAZ N 1,058, 141 1,058, 141 0
307 21201 A 1,058, 141 1,058, 141 0
09 2HAHAEXS 1,058, 141 1,058, 141 0
o HIld MBS 1,058,141,000& 1,058, 141
2x8Hd RItEx3 A& 4,560,000 4,560,000 0
307 gl2tol & 4,560,000 4,560,000 0
09 2HAHEXS 4,560,000 4,560,000 0
o 28HM |SMHEXZ  380,000,000& * 122 4,560,000
HAETNSAH2+=HH HEXH 1,396,760 932,461 464,299
< 180,000
i 1,216,760
307 glz2tol & 1,311,760 927,200 384,560
< 180,000
i 1,131,760
09 2+HAHEEXS 1,311,760 927,200 384,560
o BAYSLS BT 2aBHE
,750,000& = 43| 31,000
o HACH42 X
10,000& = 98CH = 12E 11,760
o SEHA 2E5EM HEXR
308,250,000& * 43| 1,233,000
< 180,000
e 1,053,000
o SEHA ARCOX &M
2,000,000& * 18CH 36,000
402 RI2EX=20l A 85,000 0 85,000
01 2I2E 2 A B (KM ) 85,000 0 85,000
o SEHA TLED #M X QHLHE, AX
85,000,000& 85,000
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SA: REFHY
M sws N
Sl 24N ol ¥ X CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ERAl 2 XHE &AL 308,700 288,700 20,000
= 16,800
s 291,900
201 £B-2d| 700 700 0
01 At 22l 700 700 0
o HAIZXRAS HFA+G
0,000& = 5% =« 23| 700
207 51 OH £ Hl 20,000 0 20,000
= 9,000
s 11,000
01 2284 20,000 0 20,000
o 20198 RM4Xt BAISE ZAMEHA
20,000,000& = 13l 20,000
= 9,000
s 11,000
307 21201 A 288,000 288,000 0
= 7,800
[ia 280,200
09 2HAHAEXS 288,000 288,000 0
o EHAIZX S&AMS 48,000,000& * 6CH 288,000
= 7,800
i 280,200
WEALX OlsH SAXNE 2% 114,700 114,700 0
201 Let24E] 700 700 0
01 At 2t 2l 700 700 0
o DEANOSHOZHIAE BHA2Y
70,0002 * 5% « 23| 700
307 glz2tol & 114,000 114,000 0
05 RIZHRI & 3 114,000 114,000 0
o WESAN0ISHEH &3 g 24
28,500,000& * 4& 7| 114,000
SEE LEIIAL (1002 BARE) 202,000 152,000 50,000
s 50,000
< 15,000
s 137,000
201 €24l 2,000 2,000 0
01 At 22l 2,000 2,000 0
o #=EAI(1009) OIS A M
2,000,000& = 13l 2,000
307 21201 A 200,000 150,000 50,000
s 50,000
< 15,000
s 135,000
09 2HAHAEXS 200,000 150,000 50,000
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SA: REFHY
M sws N
Sl 24N ol ¥ X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o HSEAI(1008) 28X 2 =0
50,000,000& * 43| 200,000
s 50,000
< 15,000
i 135,000
SHUNSHH(ZASEA) & 42,000 0 42,000
= 21,000
< 10,500
s 10,500
405 XHoHF S HI 42,000 0 42,000
= 21,000
< 10,500
s 10,500
01 At ESFH S 42,000 0 42,000
o 20198 HOHQAUSEAl 2
42,000,000& =« 1CH 42,000
= 21,000
< 10,500
i 10,500
HOUOMAI (MH20I2ZE) 2= XA 41,600 39,200 2,400
= 20,800
s 20,800
402 2I2H X201 M 41,600 39,200 2,400
= 20,800
s 20,800
02 QI EASEZ (01X TS ) 41,600 39,200 2,400
o HUUHMIEI(XIZO0EZNEX) H= X
400,000& = 1040H 41,600
= 20,800
s 20,800
Hsns 2438 238,100 842,080 A 603,980
SEHA EXNE FH At 20,000 20,000 0
401 AIEHI L 20 20,000 20,000 0
01 A& Bl 20,000 20,000 0
o s&EHA ZXE FHl  500,000& * 4004 & 20,000
s 218,100 51,080 167,020
201 €24l 130,600 5,160 125,440
01 At 22l 130,600 960 129,640
o HdZ S8 SAHE 1,224,489% * 980K 120,000
o sws Y 222 HA 4,000,000 4,000
o s FRFE =l
8,000& = 5H « 165¢ 6,600
202 04l 9,500 2,920 6,580
01 = LH 4 Hi 9,500 2,920 6,580
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BN DEXHMY
HHM: Hzs Nd
e sns 43t (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o HsznsE gR=x 20,000 * 5% x 95 9,500
203 € R F&d| 3,000 3,000 0
03 AIZH =X 2= XY 3,000 3,000 0
oKX Y DEFM 2 =7
750,000 = 42D| 3,000
207 A3 IH | 75,000 30,000 45,000
01 A& Y| 75,000 30,000 45,000
o SEHA ZZYH TY ARSY
25,000,000 * 13| 25,000
o SEHA 2 MHEAN APS
25,000,000& * 13l 25,000
o SEHA LANE Yot g
25,000,000& * 13l 25,000
ANsSX Ss522 65,190 61,090 4,100
NSIHEE dR2FA 22,500 18,400 4,100
201 LBt 13,000 11,680 1,320
01 AP 22| H| 7,600 6,280 1,320
o NINEsSXEEZE A2 ¢
20,000& * 10& * 53| 1,000
o MNSASE gL2F8 3|
8,0008 » 5% * 165 6,600
02 2=2=24%H| 5,400 5,400 0
o 2HE EXAAEY S22
450,000& = 12&€ 5,400
202 o4 | 9,500 6,720 2,780
01 2L I 9,500 6,720 2,780
o NEsSXNEEYR =X
20,000& x 5 x 95 9,500
NS LGEHE FUE > 42,690 42,690 0
201 et d| 42,690 42,690 0
01 AFR 2t 2| bl 21,450 21,450 0
o NESX SEZ(YTZTHUA S2R/RE)
70,0003 = 100=A 7,000
o ANsSA Y MHABSSHWEHS DK A HME
70,0003 * 30EtA * 3= 6,300
o ANsSA A2 5iotHS B
3,000& * 1,500= 4,500
o TEIHEY 2,450
- HUPHDEE EAS=ED
150,000 = 100 = 34 450
- 24xg2FAE 173,000 = 200 = 404 1,384
- SEYRzuE 154,0008 * 104 * 47 616
o MNEEE F¢ 10,000 * 20& =~ 63| 1,200
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SA: REFHY
M sws N
el ASX ss2el (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 =224l 21,240 21,240 0
o NSXEAM AUHSH SERS
2703 = 20,0000H 5,400
o NS HEHE DM 2ERSB
330& = 4,00001 = 123 15,840
ns=X s 5,518,000 3,458,000 2,060,000
= 2,750,000
s 2,768,000
=Xt o 5,500,000 3,450,000 2,050,000
s 2,750,000
s 2,750,000
FXEZENEAX AL (HAEDIE) 3,000,000 2,000,000 1,000,000
s 1,500,000
[ia 1,500,000
401 AIEHI L 2CHEI 3,000,000 2,000,000 1,000,000
s 1,500,000
= 1,500,000
01 A& HI 2,989,200 2,000,000 989,200
o ZSHAHDE Y SEFXET ZHAY
2,989,200,000& * 14 2,989,200
s 1,494,600
s 1,494,600
03 AIE 2 THHI 10,800 0 10,800
o ZEHAHDE ¥ SEFXE ZEAY
= CHHI(0.36%) 10,800,000& * 14 10,800
s 5,400
s 5,400
FUHSEMNLATNIAML(ERE) 2,500,000 650,000 1,850,000
s 1,250,000
s 1,250,000
401 Al HI YL = THYI 2,500,000 650, 000 1,850,000
s 1,250,000
[ia 1,250,000
01 A& Hl 2,491,000 650,000 1,841,000
o B2S ZYFHE THAMY
2,491,000,000& * 14 2,491,000
s 1,245,500
s 1,245,500
03 Al 2 THHI 9,000 0 9,000
o H2E sYFXE XL ALY 20dI(0.36%)
9,000,000& = 14 9,000
s 4,500
s 4,500
nE=X 18,000 8,000 10,000
ns A& 18,000 8,000 10,000
307 21201 A 8,000 8,000 0
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2N DEFHDY
HE: DE=X

!
SR

5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 8,000 8,000 0
o NEXNE ZHO &= K& 6,000,000 6,000
o St 2lo] nEEAN HE XA
2,000,000 2,000
401 Al HI L £ 0HHI 10,000 0 10,000
01 Al& B 10,000 0 10,000
o UAZ=EXE =4 5,000,000& = 2JH 4~ 10,000
(IS DNEIDNEED] = 3,185,640 2,506,440 679,200
= 257,840
Dl 1,300
o= 15,300
= 2,911,200
WEOHM AlsI| &X ¥ 22 153,800 153,800 0
MSI X & WAH 153,800 153,800 0
201 et 9| 34,800 34,800 0
02 2224 34,800 34,800 0
o DENES 2 FBS IR
2,900,000 = 12& 34,800
206 M = dl 20,000 20,000 0
01 X2 b 20,000 20,000 0]
o NENSE B2 M 7L 20,000
- DEMNSHADII 5,000,000& * 2002 10,000
- 3B XA 500,0008 * 1000 2 5,000
- WE NS S(LED) 500,0008 * 1004 & 5,000
401 AlEHIZL £ 0HY| 99,000 99,000 0
01 Al&H| 99,000 99,000 0
o NEANSSE ANEE FANES
3,000,000& = 10902 30,000
o NEHNSE & FESE WA 3A
10,000,000 * 302 30,000
o WSS S A0S WMSA
8,000,000& = 2JH A&~ 16,000
o AZAES WHZEA 2,000,000 = 40 A 8,000
o NSAE=S 218 ExZ2A
300,000& = 5004 &~ 15,000
SEX0 IIEs 22| 997,240 1,218, 140 A 220,900
2 EWH ¥ SA2el 997,240 915,640 81,600
201 2Et2Ay| 433,440 433,440 0
01 AP 2t 2] H| 3,600 3,600 0
o JIgg A28 F2¢
30,000& = 10& * 123 3,600
02 B32ZH| 429,840 429,840 0
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A nSHEMY
SRSV NE DNE= NS/ R

29 S8 It2s 22l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o JI28 &= 427,440
- 2SS (SSEH) 5,000 * 2,0008 * 12€ 120,000
- BOtS(HMA) 4,400& * 5,800 * 12& 306,240
- )RS UE SHASE
5,000& * 200H2 = 128 1,200
o JIgs &2l Z208 |SIE=
200,000& = 12& 2,400
206 M= Hl 146,000 119,400 26,600
01 =4l 146,000 119,400 26,600
o Jl2gs E=8 UM 126,000
- gz 50,000& = 508 = 128 30,000
- &+ 50,000& = 508 = 12& 30,000
- XSO 2 OIE 20,000& = 508 = 128 12,000
- LED BotsS 300,000& * 158 = 12& 54,000
o MXItA NsEEDI 50,000& = 4004 20,000
401 Al HI K 201 I 417,800 362,800 55,000
01 A& HI 416,000 361,000 55,000
o LED Jt2S &X ¥ WA
1,000,000& * 200& 200,000
o 2SS HA el SHoHAHY
68,000& * 2,500 170,000
o Jt2S MIItd FEE L FH|
100,000& * 1009H £ 10,000
o Jt2s HFE X 10,000& * 2, 1004 21,000
o gk JI2s 4X 3,000,000& * 50 £ 15,000
03 Al 2 THHI 1,800 1,800 0
o JI2S RANES L 04, WA, X 2a2i(
0.72%) 1,800,000& 1,800
g xiorE sd 2,034,600 1,134,500 900, 100
= 257,840
J| 1,300
< 15,300
s 1,760,160
ATHEHHKNES XA 46,000 46,000 0
= 10,800
s 35,200
201 Let24dH] 4,960 4,960 0
01 At 2teltl 4,960 4,960 0
o UXZES EE2= M
1,000& * 5& = 20004 1,000
o UX FRFE =l
8,000& = 3H * 165¢ 3,960
202 044l 5,040 5,040 0
01 SLHOYI 5,040 5,040 0
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2N
X ZH -
L= B

el

nSI M
Ol L XI & XH& o0 &
oiHxiolg sa

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o HUXEgR =& 20,000 = 3¥H » 84 5,040
402 SI2F 20| & 36,000 36,000 0
& 10,800
= 25,200
02 CIZEXIEAIS E X (0| M THS) 36,000 36,000 0
o AMIMHUHKNEZ I3 AFY
1,200,000& = 300t+ 36,000
=} 10,800
= 25,200
S AN BSAE 1,500,000 1,000,000 500,000
402 SI2FXHE0| & 1,500,000 1,000,000 500,000
01 BIZtXIEAYE X (KM ) 1,500,000 1,000,000 500,000
o TAIJIA 23 1,500,000,000& = 14! 1,500,000
g@AdA FEHIE JI2XNSAS 1,300 1,200 100
J| 1,300
405 XH&HF S HI 1,300 1,200 100
J| 1,300
01 XA E B F S| 1,300 1,200 100
o HH OISH? A2 HE 7Y
1,300,000 * 1= 1,300
J| 1,300
MNOIE JIACHMZEX| (EIOIHHZE) ESALY 15,000 15,000 0
= 4,500
= 10,500
403 XX SRS K20 & 15,000 15,000 0
& 4,500
o 10,500
02 2| 2SO Ust A== EAS Y 15,000 15,000 0
o NBIZE JIACHHZEX(EIOIHZ) E=2AtY
50,000 = 300AICH 15,000
=} 4,500
= 10,500
MBI=E JIAAA A 72,300 72,300 0
= 57,840
= 14,460
403 XX SRS K20| & 72,300 72,300 0
= 57,840
= 14,460
02 2| 2SOUeA=2EAEAS Y 72,300 72,300 0
o ANOIE JIAAAE HEAFY
241,000€ * 3000t 72,300
= 57,840
= 14,460
FAHE MHX=2X 400,000 0 400,000
= 200,000

- 386 -




A nSHEMY
SRSV NE DNE= NS/ R

S g Xxolg s (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o 200,000
403 XX SHHS K20 & 400,000 0 400,000
= 200,000
= 200,000
02 BI2SOHUSA=2EAEAIS I 400,000 0 400,000
o 2019H MASSHMAL (HANS KL=
X-B2E LED WA 400,000,000 400,000
= 200,000
= 200,000
HESHAY (WEH M) 57,173 58,542 AN 1,369
ol 2HH| 35,223 34,211 1,012
ol 2AY| 35,223 34,211 1,012
101 e1214| 35,223 34,211 1,012
01 2 35,223 34,211 1,012
o Al2HZ224E
10,299& » 159 * 19A|2F = 12& 35,223
Jl23dHl 21,950 24,331 A2,381
Jl2 &4l 21,950 24,331 A2,381
201 et 17,750 18,731 A 981
01 AP 2t 2] H| 17,750 18,731 A 981
o ANIREE #¢ 10,000& * 20 * 123 2,400
o SANEXN P 25,000 * 178fA « 12 5,100
o HHZ2E(U, &) M
300 * 50004 * 12& 1,800
o dolN Zgly A28 2¢ 2,550
- &4 250,000& = 3CH 750
- &4 150,000 = 6CH * 23| 1,800
o SAI ARE P2 L 2|
2,000,000& = 1CH 2,000
o MEIRSE 3,480
- L 18,0008 » 58 * 12& 1,080
- XX 10,000 = 208 ~ 12€ 2,400
o WeL)| AdX2 35,000 = 104 ~ 12&€ 420
203 € R F=&d| 4,200 4,200 0
04 ENSH LR F=XH| 4,200 4,200 0
o 2501 0| &t 350,0008 = 12& 4,200
HEesStS(WSHZY) 355,000 893,531 A 538,531
WEHN K= 355,000 893,531 A 538,531
LHEHCH K= 355,000 893,531 A 538,531
701 JIEISI HSEE2 355,000 893,531 A 538,531
01 JIEtSI HE &= 355,000 893,531 A 538,531
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Off &t 24

355,000
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